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Q1: What is/are X in the below sentences? 
1.1 The more X available, the larger the number of devices that can be addressed.

           X is/are .Address buses........................................................... 
The CPU is connected to memory and I/O through X.    

           X is/are ....address or data buses........................................................ 
1. The more X available, the better the CPU.
           X is/are ...Data buses......................................................... 
1. More X mean a more expensive CPU and computer.

          X is/are ...Data buses.........................................................
The average size of X in CPUs varies between 8 and 64
          X is/are Data buses............................................................
X is unidirectional.
           .Address buses........................................................... 
X stores information that is not permanent and can change with time
X is/are ………RAM.
In general, the more and bigger the X, the better the CPU. The disadvantage of more and bigger X is the increased cost of such a CPU.
X is/are ………registers.

X Performs arithmetic functions such as add, subtract, multiply, and divide, and logic functions such as AND, OR, and NOT.

X is/are ………ALU.

X points to the address of the next instruction to be executed.

X is/are ……… Program counter.

X uses a microprocessor (or microcontroller) to do one task and one task only.

X is/are ……… An embedded product
Very often the terms embedded processor and X are used interchangeably.

X is/are ……… microcontroller
The vast majority of 8051 X are 8-bit registers
X is/are ……… register.
The X converts the instructions into machine code.

X is/are ……… assembler.

Q2: Complete the below table?
	General-purpose microprocessors
	Microcontroller

	
	

	
	

	
	


Q3:Explain the following sentences?
The 8051 is an 8-bit processor
The CPU can work on only 8 bits of data at a time
The 8031 is a ROM-less 8051.

Has no ROM.

8751 microcontroller has UV-EPROM.

PROM burner

UV-EPROM eraser takes 20 min to erase
The first opcode is burned into ROM address 0000H.
this is where the 8051 looks for the first instruction when it is booted
No member of 8051 family can access more than 64K bytes of opcode.
The program counter is a 16-bit register.

Q4:

Simulate the PSW register when adding 38H and 2FH?

CY = 0 since there is no carry beyond the D7 bit

AC = 1 since there is a carry from the D3 to the D4 bi

P = 1 since the accumulator has an odd number of 1s (it has five 1s)
Q5:What is the difference between  

MOV A,#55H

MOV A, 55H
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